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SUMMATIVE ASSESSMENT -I,2015-16  ~*'
MATHEMATICS
Class - IX
. Time Allowed : 3 hours : Maximum Marks: 90
1‘ General Instructions: ;
4 ;3 All questions are compulsory. b
. r 5 The question paper consists of 31 questions divided into four sections A, B, C and D.

Section-A comprises of 4 questions of 1 mark each; Section-B comprises of 6 questions
of 2 marks each; Section-C comprises of 10 questions of 3 marks each and Section-D
comprises of 11 questions of 4 marks each. ‘

3. There is no overall choice in this question paper.

4 Use of calculator is not permitted,

SECTION-A

Question numbers 1 to 4 carry one mark each.

1 Identify a rational number among the following numbers : 1
l_ - 2+42,242,0,m . ——
. ) ‘ e
2 Write the zeroes of the polynomial :x’-4 = S 3
éf _ What can you say about a pair of complementary angles? ~\¢. 1
El The point P(a, b) lies in the IV Quadrant. Write the signs of aand b? -+ . 1
SECTION-B

Question numbers 5 to 10 carry two marks each.
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Simp]ify:[-?- sjipss T IESTOR I8 ] o
Jg '—“d:('ze; 5% L

Factorise : 8x3 + 3433 ol ST = 2

2
State any two Euclid’s axioms.
Prove that two distinct lines cannot have more than one pointin common, =~ | 2
Write coordinates of points which are reflections of the point (—3, —4) inx- axisand y - axis. 2

o = =™ -
=) 5
2
o~ A ;Qn,.*-
Side of an equilateral triangle is 16 m. Find its area. (Use v/3 = 1.732), | 'O+ 5157
\ - . » {
— ‘;f'
SECTION-C 3 | . -
Question numbers 11 to 20 carry three marks each.
Simplify : 3
o 3 A ,

[5 (8‘/3 + 27%) ] SS
Represent V5 on the number line. 3

If x and y are two positive real numbers such that 9x2 + 25y2 =106 and xy =3, then find the value of 3

I=5y.
g 43

Prove that x* + 2x° + 3x% — 38x + 32 is exactly divisible by x* — 3x + 2. 3
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In a triangle ABC, X and Y are the points on AB and BC respectively. If BX= %AB and

BY = %BC and AB=BC. Show that BX=BY.

16 T %Dmmﬁ/ﬁmm/{ﬁam)l ?:?ri‘sqﬂ}eb T@I@}EAB@/S’
E2oid

B =

bl

. y D

AB.

A

AD and BC are equal perpendiculars to a line segment AB (see figure).. Show that CD bisects

B -

R 3
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In the figure, if AB and CD are parallel, find the value of x.

e
y ax°

Yo : D:
: 1\
:A - \i';rs" B:

"
S — e

l

&
- -
/

Intheﬁgure,atransversallcutstwolinesABandCDatEandFrespeclively. EG is the
bisector of ZAEF and FH is the bisector of ZEFD such that Za=/b. Show that EG||FH and
ABJ|CD.

: fordtep e 1,2 Yot AB 3K CD %1 wRe/E T F R Gt #1 £ m%ﬁg
EFD % FHRGM La= bR & 3R ABJED ¥1 7
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Three vertices of rectangle are (3, 2), (~4, 2) and (—4, 5). Plot these points and find the co-
ordinates of the fourth vertex. '

ABCD T tmwwmﬁm}&fw?«t ]
m 1 /
ABCD is a rhombus with each side of length 10 cm and one diagonal of length 16 cm. Find.

the area of the rhombus. A G C.h:l

EUS-T / SECTION-D

Rl 2131 T WAFH 4IF T

Question numbers 21 to 31 carry four marks each.

Factorise : x2+ 14x + 48 CU:" 6 / XA ‘13) 4
B

Give an example of two irrational numbers whose : _
(i) difference is a rational number. = ' o T%',Fz,,)

(@) . sumisarationalmumber. R T2 T T O "

(i) productisarational number. 7, < 5
-

“
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(iv)  division is a rational number. "-3 ,q

P /“““/“* yota p el wis

Using factor theorem, show that (a+b),(b+c) and (c+a) are factors of _
(@+b+c)P-(@3+b3+3).

Or
Ifx+1/x=7, find the value of x3+ 1/ x3 Y3

Hf: P22+ (2= , 4
R (x=y)’ +(y-2)°+(z-2)° =

implify - 5=V P+ (%= 22)%+ (2-22)°
o e

4
If the angles of a triangle are in the ra1103 4:5, find the measure of the smallest angle.
TR fF x+2, TR 203 +4x2— 32— 6$r1za;vpm%| TR VAT FA G, TR w4
UG HifoT | .
Show that x +2 is a factor of the polynomial 2x3 + 4x2—3x — 6. Hencefactonie the polynomial. ™ |
k e

T Ascnqmmdwa;m?zwwt FG‘EIEEFI J
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In figure, a plot is in the form of a parallelogram ABCD. Owner of this plot wants to build OLD AGE
HOME, DISPENSARY, PARK and HEALTH CENTRE for elderly people as shown in the fig.- P is a point on
the diagonal BD such that DP is half of DB and PB is also half of DB. What is the relation between DP
and PB ? Which Euclid Axiom supports the answer ? State the value exhibited by the owner of plot.

Prove that the sum of three angles of a triangle is 180°.

feg e s % DEIIQR 1 £DAB 3ik 4QBA % ;AP 3R BP ¥ o ~
fag-a; 3R BQ ¥1 fZAPB 3R /AQB Fra/ifsr A?g;rym
|
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In given figure, DE|| QR. AP and BP are the bisectors of ZDAB and ZQBA respectively and
AQ and BQ are bisectors of ZEAB and ZABR respectively. Find ZAPB and ZAQB. What
figure is APBQ ?

Prove that the angles opposite to the equal sides of an isosceles triangle are equal. 4

S e

The angles of a triangle are (x—40)°, (x—20)° and (12‘. - 10) . Find the value of x and then the
§o g0 U 0

angles of the triangle.
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